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[ Objective: Find the volume and surface area of spheres. ]

Surface Area and Volume of Sphere
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‘ ' Volume = g:&'r“q’

Find the surface area of a sphere
Find the surface area of the sphere. 7 em
Solution v
C
O: d l Formula for surface area of a sphere
= 474' )_ Substitute 7 forr.
=3 | 96 T Simplify.
% 61575 Use a calculator.
The surface area of the sphere is about 615.75 square
centimeters.
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[ Exercise 1: ] [TT’P L

Circumkecence

Find the surface area of each sphere. (in terms of m)
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Gxercise( 2):1f the surface area of a sphere\

is 784w cm?, find its radius?
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Example 2: ]

Volume ef Spheres

To find the volume
of a sphere use
the formula in the

blue box.
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{ Exercise 3: ]

1s 10 inches. (in terms of m)
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. Find the volume of the sphere, given that the diameter
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/ Exercise 4: Find the diameter of a sphere\

o {500 3
if its volume is Tn cm®?
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/ Exercise 5: Find the surface area \

(in terms of ) of a sphere @ @
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Exercise 6:
——

If the surface area of a sphere is 1256 m?,

find : a)its radlu@volume ?
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